
Regression test
Test run started 2025-08-26T20:13:01Z

Ashes version: 3.32.0

Comparing with external results

Hydro loads on rectangular CS from current

Load case set 1

Load case Time series Error score Result
LC1 Force.x 0.000000 PASS

Force.y 0.000000 PASS

LC2 Force.x 0.000000 PASS

Force.y 0.000004 PASS

LC3 Force.x 0.000028 PASS

Force.y 0.000000 PASS

LC4 Force.x 0.000014 PASS

Force.y 0.000011 PASS

LC5 Force.x 0.000000 PASS

Force.y 0.000028 PASS

LC6 Force.x 0.000000 PASS

Force.y 0.000004 PASS

LC7 Force.x 0.000047 PASS

Force.y 0.000004 PASS

Load case: LC1

Load [Hydro perp. drag (1)]
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Load case: LC2

Load [Hydro perp. drag (1)]
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Load case: LC3

Load [Hydro perp. drag (1)]
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Load case: LC4

Load [Hydro perp. drag (1)]
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Load case: LC5

Load [Hydro perp. drag (1)]
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Load case: LC6

Load [Hydro perp. drag (1)]
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Load case: LC7

Load [Hydro perp. drag (1)]
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